
Addition Word Problems

1. There are 143 books in one classroom and 47 books in another classroom. What is 
the total number of books in both classrooms?

2. Josh goes shopping and buys a sticker pack for 67p and a packet of sweets for 
39p. How much money does he spend?  

3. Abi has 393 beads in her set. For her birthday she is given 148 more. How many 
beads does she have now?  

4. 194 cupcakes are baked for the school summer fair. The children also bake 112. 
What is the sum of cupcakes on sale?  

5. Tom and Rose go to a café. Tom chooses a ham sandwich and an apple. How much 
money does he need? 

6. Rose chooses a cheese sandwich and some raisins. What is the total cost of her 
order? 

7. On a sponsored bike ride, Michael cycles 117 miles from London to Birmingham 
and then another 206 miles from Birmingham to Newcastle. What is the total 
amount of miles he cycles?  

8. Paul has 384 football cards and his brother has 83. How many cards do they have 
altogether?  

9. In a cricket match Matt’s team scores 382 runs in the first innings and 184 in the 
second. How many runs did they score altogether?  

10. Angela reads to page 143 of her book. There are 48 pages left. How many pages 
does her book have?  
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Addition Word Problems

1. There are 143 books in one classroom and 47 books in another classroom. What is 
the total number of books in both classrooms? 190

2. Josh goes shopping and buys a sticker pack for 67p and a packet of sweets for 
39p. How much money does he spend?  106p or £1.06

3. Abi has 393 beads in her set. For her birthday she is given 148 more. How many 
beads does she have now?  541

4. 194 cupcakes are baked for the school summer fair. The children also bake 112. 
What is the sum of cupcakes on sale?  306

5. Tom and Rose go to a café. Tom chooses a ham sandwich and an apple. How much 
money does he need?  124p or £1.24

6. Rose chooses a cheese sandwich and some raisins. What is the total cost of her 
order?  112p or £1.12

7. On a sponsored bike ride, Michael cycles 117 miles from London to Birmingham 
and then another 206 miles from Birmingham to Newcastle. What is the total 
amount of miles he cycles?  323

8. Paul has 384 football cards and his brother has 83. How many cards do they have 
altogether?  467

9. In a cricket match Matt’s team scores 382 runs in the first innings and 184 in the 
second. How many runs did they score altogether?  566

10. Angela reads to page 143 of her book. There are 48 pages left. How many pages 
does her book have?  191
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